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Question #2: Find fimet when \nezahd h= 1449 A

W& = bt ~1bt?* = 194
bt* -9t + 194 = 0O
 E* —pt t9 =0
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£2-6t+3 =0 | -kt +9 =0 £-bt+ 9 =0
(£-3N0e-3)=0 _ bt [3-3 D
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t=3,3 L= 340 £2 -6t + 9= =949
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£=13, 3
't= 3 sec
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WD = Wt -1bt® = 160
D> bt -9t + 16D = O
t* -t +10 =0
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A B0 W (vedd) lamp is Connecked 10 O 20 S (Chw)
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(kL) 120 = V, + Vg O
(Ohws) Vg =20X - “w @
_ Also, ?Dr e, \W‘f‘?, powes = \fol{aﬁc P TEN VI
| => R =\.T = 00w
: _ @ _ | :
VL = = | we €3)

| \P\\.,\a _e?);mh‘ms (2) ond (3) rato 7(\):

O

(O

120 = _f + 20 T
- W\u.l’n'p\\d \ma I, \20T = 160 + 20 T.°
= |20x* - 120X +100 =0
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SD\U&ROO : .2.0 I - \20X +100 =O

(dijvide lma 20) .
T5-T_+5 =0 |
Foacro ciag RQuadroki¢ Formulon Cor_\'ne\'ehna the, Sgucre
T*-(XT+S =0 2oL +S =0 T* LT * § =0
T-\ A=-8)=0 <= L E J36-20 I*-6T =-§
2
S X=lor A ~
. ‘1:312, C
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TP - EPesH)
Xr-eX49=-5+9

e
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1=3r2
- X=ler5A
NOTE ¢ 2_ Solukons corres@rd +o 2 \ON\P ‘c\mic{b
CAse L: T =) A :
. ' 2>VL _ 100/1 _: IOO/t = 100 \!OH'S
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=5V, T fOO/__,C_ - 100/5 = 2D wvolts
Case T "cow.cs?oo&s to o \_QMP caked af 100 §rol+s,
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% ' SRS RiRg
.R"é Ra | 3' R= R+R,
¢ ~—
5u—(>(>ose, R,= YR. +100 .0 BN A
ong R=100 n o (2
F‘;Ll_c\ ‘21 ;{ R.
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Solusson: 0 R = R+Rz”

suborng (V) od (2 ko )

oo = (MR HooY(R2)
(YR, t100) + R,
o .
100 = YR, 'HODRi y
. SRy +10D

106(S R, + 100) = YR, + 10OR,
SO R, + 10,000 = HR™ + {0OR,
YR,* - HODR, ~10,000 =0

We vew \naxe o Quodratic | -'e%ua.h‘on) 0 terms OF Rz.x
S\me\ c‘a \oté A& \D\a "i _

Ra - 100K, ~ 2500 =0 | .,,(73)
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R, - \0DR, - 2500 = O
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Now Fom v, = 4Ry + 100
R, = 420D +100 = 582 8

o R.= 582.8 L oond R.= 120.7
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